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RNk BEAH BRERE AN BWEHH BWEE
FERLI0E | FRi29F | B | TRS0E | FR290F | IBE | FRKS0E| TR29FE| &R | FR30FE | FRk29FE| A | FRS0E | FRi29F| IR | TRS0E| FR29FE| B

B T & % 95 127 -32 93 121 -28 97.9 95.3 2.6 896 1139 -243 663 648 15 740 56.9 17.1
[ I I TR ) 33 61 -28 32 57 -25 97.0 934 36 387 423 -36 286 259 27 739 61.2 12.7

55K 16 26 -10 16 24 -8 100.0 923 7.7 178 222 -44 169 138 31 94.9 62.2 32.7

55K 21 -15 6 20 -14 100.0 95.2 48 43 45 -2 26 38 -12 60.5 84.4 -23.9

SHEREX 6 -4 2 6 -4 100.0 100.0 57 61 -4 18 43 -25 316 705 -389

SHEK 9 8 1 8 7 1 88.9 875 14 109 95 14 73 40 33 67.0 421 249
2 B W 37 22 15 35 18 17 94.6 8138 12.8 239 286 -47 167 108 59 69.9 378 32.1
b= TR ] 5 8 -3 6 8 -2 120.0 100.0 20.0 53 58 -5 46 37 9 86.8 63.8 230
F H W 1 3 -2 1 3 -2 100.0 100.0 12 21 -9 11 9 2 91.7 429 4838
¥ M W 1 3 -2 1 3 -2 100.0 100.0 12 27 -15 13 16 -3 108.3 59.3 490
H R W 2 7 -5 2 7 -5 100.0 100.0 14 14 10 2 8 714 14.3 57.1
#w o o# W 4 3 1 4 3 1 100.0 100.0 15 38 -23 9 16 -7 60.0 42.1 17.9
B 2 W 2 -2 2 -2 - 1000 | -100.0 3 8 -5 4 7 -3 133.3 87.5 458
O OR 0w 2 -2 2 -2 -| 1000 | -100.0 3 14 -11 4 13 -9 133.3 929 404
f&8 @1 ™ 2 2 2 2 100.0 100.0 21 29 -8 7 26 -19 333 89.7 -56.4
PR AM 2 2 2 1 1 100.0 -| 1000 15 36 -21 11 24 -13 733 66.7 6.6
* £ W 1 5 -4 1 6 -5 100.0 1200 -20.0 12 34 -22 9 29 -20 75.0 85.3 -103
E E W 2 -2 2 -2 -| 1000 | -1000 6 23 -17 8 15 -7 133.3 65.2 68.1
x £ W 1 1 1 1 100.0 - 100.0 13 12 1 8 11 -3 615 917 -30.2
% 0O ™ 2 3 -1 2 3 -1 100.0 100.0 9 25 -16 4 8 -4 444 320 12.4
AR A0 BT - - 14 11 3 11 7 4 78.6 63.6 15.0
#MEME SHT 1 1 1 1 100.0 -| 1000 8 8 6 8 -2 75.0 100.0 -250
EOERE AT - - 2 3 -1 2 2 100.0 66.7 333
/1N AR K 5 BT - - 8 8 8 4 4 100.0 50.0 50.0
EEMFTEN - - 1 1 1 -1 -
o H D &% BF AT - - 20 4 16 19 2 17 95.0 50.0 450
R4 EB B0 A o BT - - 7 3 4 1 2 -1 14.3 66.7 -52.4
R B BR &= S HT - - 2 4 -2 3 5 -2 150.0 125.0 25.0
EAMAEREH - - 1 1
AKERA K RIET 1 1 1 1 100.0 -| 1000 3 10 -7 1 9 -8 333 90.0 -56.7
A K B 35 BT 1 1 1 1 100.0 - 100.0 2 26 -24 3 22 -19 150.0 84.6 65.4
I ERES ff o e BT 1 1 1 1 100.0 -l 1000 4 8 -4 2 2 50.0 25.0 25.0
EO R 4 -4 4 -4 -| 1000 | -100.0 10 5 5 10 4 6 100.0 80.0 20.0




